Model Set Paper -9

1. BTR URRTSE $T Y 8-

The formula of copper pyrite is
(A) CuFeS

(B) CuFeS:

(C) Cu2S

(D) CuzFeS:

2. frafafaa o S19-91 srrERer ured 8 82-

Which of the following is not a colligative property ?

(A) feHi® BT 3faTa
Depression in freezing point

(B) USRI fohareiiadn
Optical activity

(C) AT &1 T 3MMUfeD gTHT
Optical non-activity

(D) HYIh HT IAI
Elevation of boiling point

3. 7@ § HIIRA BT DI ABAT 3-

The number of chiral carbon is glucose is
(A) 4

(B) 5

3

(D) 1

4. CHI; ® TRIfY® foran &1 SR 5-

The antiseptic action of CHIz is



(A) 3MSSIHIH

due to iodoform

(B) TSI Gard BlahR FAaparl

due to liberation of free iodine

(C) 3ifRIp NS 3R 3HifH

CHI3 partially due to iodine and partially due to CHI3
(D) 378 ¥ PIs gl
5. feRRTa 8 U®-

Glycerol is a

(A) TTSHRY 3fehigd

Primary alcohol

(B) HH TSI 3fehIgd

Secondary alcohol

(C) R srcpigd

Tertiary alcohol

(D) TIZBTRISH fehigd
Trihydric alcohol

6. TP ACTH PP 3T A P-O-P Y & TET -

The number of P-O-P bond in cyclic metaphosphoric acid is-

(A) &

two

(B) j[A

Zero

(C)

three

(D) dIR
four



7. fFafafad A @ 19 Jae aga® =81 82-

Which of the following is not a condensation polymer ?

(A) freapa

Glyptal

(B) ATIQAI-6, 6
Nylon-6, 6

(C) PTFE

(D) S

Dacron

8. 234.2 I O & 9 ¥ 34.2 UTH - 81 O T Hiad HI=50T T gI2-

234.2 gm of sugar syrup contains 342 gm of sugar. What is the molal
concentration of the solution ?

() 5.5
(D) 55

9. K4[Fe(CN)s] H Fe T UTH T T § ?-
The hybridisation of Fe in K4[Fe(CN)e¢] is

(A) dsp?

(B) sp’

(C) d*sp?

(D) sp*d?

10. St Mg §91 § B9 g0y @ 2-

Which is able to form Zwitterion ?

(A) CH3NO2



(B) CH3COOH
(C) CH3CH2NH:?
(D) H2NCH2COOH

11. AT H2S0, & fsiciievor &1 4 srepiga ¥ &9 2-¢1H &a1 872-

Which of the following alcohols gives 2-biutene on dehydration by conc. H2504?

(A) 2-HfYe TTH-2-3Td
2-Methyl propene-2-ol

(B) 2-HfIS 1-TNUATe
2-Methyl 1-propanol

(C) SLT-2-3M1d

Butane-2-ol

(D) F-1-3f1ct

Butanie-1-ol

12. Fufafed # o= fedae a9 82-

Which of the following is a secondary cell ?

(A) THA Id

Leclanche cell

(B) A8 TR S

Lead storage battery

(C) Tigur Id

Concentration cell

(D) 39H T gt

all of these

13. 9 § 19 TSI T g g2-

Which of the following is a biodegradable polymer ?

(A) Hegare

Cellulose



(B) TTeiTdH
Polythene

(C) Uiag
PVC

(D) ATI@I-66
Nylon-66

14. Frufefead # @ o1 sifirvedia 314 82-

Which of the following is non-crystalline solid ?

(A) BRI

Diamond

(B) UBISC

Graphite

(C) B
Glass

(D) HIYRU] FHDH
Comnion salt

15. 7o fbeea o3 P Tem gdl -

Number of basic types of crystals are:
(A) 4

(B) 7

) 14

(D)8

16. NaCl fibeea 1 |ea=T gt 3.

NaCl crystal structure is :

(A) fous S

Body-centred



(B) Bl dbi-d

Face-centred

(C) TASDIUIY

Tetragonal

(D) IR YATPR
Simple cubic

17. fUvs Hf2a TToR 3P89 A RS $ H@I gt 8-

Number of atoms in body-centred cubic unit cell is :

)8
(D)9

18. TITHR T § U8 Hid WRUY] $ U9 =T il § :-

In body-centred cubic crystal structure co-ordination number of atom is:
(A) 4
(B) 8
9
(D12

19. Octahedral void # radius ratio &T #I9 T gIdT & ?-
What is the radius ratio of octahedral void ?

(A) 0.414
(B) 0.225
(C) 2.25

(D) 4.14



20. 370 | SI91-9T TS ST B 2-

Which of the following is ionic solid ?
(A) 12

(B) LiF

(ORSIERCIE|

(D) BRI

21. HYERdT B G BT AT & :-

Molarity is expressed in :
(A) TH/efieR
B) dilcy/Hid
(C) Hiet/eftex
(D) HIci/1000 UTH
22. XeF2, XeF4 T XeFs H UHTH! I B JWAT HU: B! &-

The number of lone pair electrons in XeF2, XeF4, and XeF¢ are respectively-
(A) 2,31
B 1,23
4,12
(D)3, 2,1

23. Fe** (Z = 26) & d-3Aae &I @& 9 ¥ A fhas gaae- I I8 & SRIER
TRE -

The number of electrons of which of the following is not equal to d-electrons of
Fe** (Z = 26)

(A) Fe(Z = 26)

& d-SARH P



(B) Ne(Z = 10)

& p-3AR D

(C) Mg(Z = 12)

& 5-3ddci b

(D) Cl(Z =17)

%p%@l?ﬁﬂ%
24. f4 & B Urgwl 3A1ES §-

Which among the following is primary halide ?

A) IR ASES

Isopropyl iodide

B) Th US| HCISd MATSISS

Secondary iodide

(C) RfeTdt sgerga 1S

Tetiary butyl bromide

(D) T s FARTS S
Neohexylchoride

25. Ufyd Srepigd A TRICATSEISS H FUT=IRU U IST8Rl 8-

The conversion of ethylalcohol to acetaldehydre is an example of-

(A) HTRNDHT BT

oxidation

B) arTRiTa Siffcrar &1

addition reaction

(C) 3{dHRUT Dbl
reduction

(D) FSiciieRur &1
dehydration

26. o ® fo uerd &1 samuTive 19 BIRAHH 8-

The trade name of which of the following substance is formalin?



(A) BRHD 3

formic acid

(B) FARIBH

Chloroform

(C) Tid9a &7 40% STeg faera

40% aqueous solution of methanal

(D) IRTHRAASEIRS

paraformaldehyde

27. Qg1 & R cMC FTAF BT @ -

CMC value for soaps is :-
(A) 108 =107 mol L
(B) 10°=10"> mol L’
(C) 104 =107 mol L

(D) 102 - 10" mol L™



